
Minusrechnen (bis 250 000)

Aufgabe 1

1. 185 330 - 102 731 =   

2. 153 155 - 77 456 =   

3. 126 273 - 38 453 =   

4. 177 810 - 117 570 =   

5. 239 616 - 56 533 =   

6. 240 806 - 238 205 =   

7. 164 458 - 150 330 =   

8. 197 388 - 168 738 =   

9. 169 768 - 83 448 =   

10. 158 626 - 91 470 =   

Aufgabe 2

1. 236 407 - 41 782 =   

2. 238 318 - 100 612 =   

3. 221 908 - 195 540 =   

4. 46 994 - 30 272 =   

5. 75 808 - 59 073 =   

6. 136 451 - 30 290 =   

7. 223 722 - 33 962 =   

8. 209 033 - 179 292 =   

9. 211 327 - 156 324 =   

10. 211 540 - 192 997 =   

Aufgabe 3

1. 213 177 - 151 278 =   

2. 202 650 - 106 501 =   

3. 168 493 - 89 019 =   

4. 126 087 - 64 909 =   

5. 53 876 - 28 972 =   

6. 218 255 - 55 739 =   

7. 127 496 - 102 498 =   

8. 225 163 - 107 483 =   

9. 222 821 - 104 870 =   

10. 232 847 - 185 881 =   

Aufgabe 4

1. 75 126 - 69 808 =   

2. 201 192 - 27 951 =   

3. 127 336 - 64 811 =   

4. 201 844 - 40 713 =   

5. 215 924 - 91 800 =   

6. 153 526 - 50 963 =   

7. 159 545 - 55 017 =   

8. 214 215 - 192 825 =   

9. 167 901 - 147 662 =   

10. 236 187 - 124 035 =   
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Minusrechnen (bis 250 000)
| ANTWORTEN

Aufgabe 1

1. 185 330 - 102 731 =  82 599

2. 153 155 - 77 456 =  75 699

3. 126 273 - 38 453 =  87 820

4. 177 810 - 117 570 =  60 240

5. 239 616 - 56 533 =  183 083

6. 240 806 - 238 205 =  2 601

7. 164 458 - 150 330 =  14 128

8. 197 388 - 168 738 =  28 650

9. 169 768 - 83 448 =  86 320

10. 158 626 - 91 470 =  67 156

Aufgabe 2

1. 236 407 - 41 782 =  194 625

2. 238 318 - 100 612 =  137 706

3. 221 908 - 195 540 =  26 368

4. 46 994 - 30 272 =  16 722

5. 75 808 - 59 073 =  16 735

6. 136 451 - 30 290 =  106 161

7. 223 722 - 33 962 =  189 760

8. 209 033 - 179 292 =  29 741

9. 211 327 - 156 324 =  55 003

10. 211 540 - 192 997 =  18 543

Aufgabe 3

1. 213 177 - 151 278 =  61 899

2. 202 650 - 106 501 =  96 149

3. 168 493 - 89 019 =  79 474

4. 126 087 - 64 909 =  61 178

5. 53 876 - 28 972 =  24 904

6. 218 255 - 55 739 =  162 516

7. 127 496 - 102 498 =  24 998

8. 225 163 - 107 483 =  117 680

9. 222 821 - 104 870 =  117 951

10. 232 847 - 185 881 =  46 966

Aufgabe 4

1. 75 126 - 69 808 =  5 318

2. 201 192 - 27 951 =  173 241

3. 127 336 - 64 811 =  62 525

4. 201 844 - 40 713 =  161 131

5. 215 924 - 91 800 =  124 124

6. 153 526 - 50 963 =  102 563

7. 159 545 - 55 017 =  104 528

8. 214 215 - 192 825 =  21 390

9. 167 901 - 147 662 =  20 239

10. 236 187 - 124 035 =  112 152

© MaxKlug.de Online üben  |  
Lehr- und Lernbücher  |  
Arbeitsblätter  |  
Lehr- und Lernmaterialien

Subtrahieren


 



